Sexto Método de rapidez de calculo mental

Operaciones bien hechas la ultima vez:

Restas
16 -4 =
18- 2 =
12 - 6 =
14 -4 =
14 - 6 =
12-4 =
16 -4 =
18- 2 =
12 -6 =
14 -4 =
14 - 6 =
12-4 =
16 -4 =
18- 2 =
16 -4 =

Operaciones bien hechas en 2 minutos:

17 -6 =
15-2 =
11-6=
19-4 =
17 -6 =
11-4=
15-4 =
17 -2 =
13-6 =
13-4 =
15-6 =
17 -4 =
19-4 =
19-2 =
17 -4 =

17 -4 =
19-2 =
13-6 =
15 -4 =
13-6 =
11-4=
18 -4 =
19-2 =
11-6=
11-4=
13-6 =
15 -4 =
13-4 =
13-2 =
17 -4 =

17-9 =
19-8 =
13-5=
15-8 =
13-9 =
11-8=
18-7 =
19-2 =
11-7=
11-8=
13-5=
15 -6 =
13-6 =
13-7 =
17 - 6 =

22



